Quiz week 3
Question 1:

Which of the following is not one of the characteristics of a data communication system?

Responses:

1) delivery

2) accuracy

3) jitter

4) All of the choices are correct

Question 2:

Which of the following is not one of the components of a data communication system?

Responses:

1) message

2) sender

3) medium

4) All of the choices are correct

Question 3:

A local area network (LAN) is defined by _______________.
1) the geometric size of the network

2) the maximum number of hosts in the network

2) the maximum number hosts in the network and/or the geometric size of the network

4) the topology of the network 

Question 4:
The largest geographic area a wide area network (WAN) can span is 

1) a town

2) a state

3) a country

4) the world
Question 5:

Data can flow only in one direction all of the times in a _________ mode.

Responses:

1) simplex

2) half-duplex
3) full duplex

4) None of the choices are correct

Question 6:

Data can flow only in both direction all the times in a _________ mode.

Responses:

1) simplex

2) half-duplex

3) full duplex

4) None of the choices are correct

Question 7:

Which of the following is not one of the network criteria?

Responses:

1) performance
2) reliability
3) security
4) All of the choices are correct

Question 8:

In a _____________ communication, the media needs to be shared between devices

Responses:

1) point-to-point

2) multipoint 

3) mesh

4) None of the choices are correct

Question 9:

In a _____________ communication, the media is dedicated.

Responses:

1) point-to-point

2) multipoint 

3) mesh

4) None of the choices are correct

Question 10:

In a fully connected mesh topology with six computers, we need ________ links.

Responses:

1) 6

2) 36 

3) 15

4) None of the choices are correct

Question 11:

In a star topology with six computers, we need ________ links.

Responses:

1) 6

2) 1
3) 5
4) None of the choices are correct

Question 12:

An RFC is labeled ________ if it must be implemented by all Internet systems.

Responses:

1) required

2) elective

3) recommended

4) None of the choices are correct

Question 13:

In the original ARPANET, _______ were directly connected to each other.

Responses:

1) interface message processors (IMPs).
2) host computers

3) networks

4) routers

Question 14:

_______ was formed to connect universities with no defense ties.

Responses:

1) ARPANET

2) CSNET

3) NSFNET

4) ANSNET

Question 15:

_______ was formed to connect universities with no defense ties.

Responses:

1) ARPANET

2) CSNET

3) NSFNET

4) ANSNET

Question 16:

Currently _______ is responsible for the management of Internet domain names and addresses

Responses:

1) NIC

2) ICANN

3) ISOC

4) IEFE

Question 17:

The TCP/IP protocol suite consists of _______ layers.

Responses:

1) two

2) three

3) five

4) six

Question 18:

A router is involved in ____________ layers of the TCP/IP protocol suite.

1) two

2) three

3) four 

4) five

Question 19:

A link-layer switch is involved in ______________ layers of the TCP/IP protocol suite.

1) two

2) three

3) four 

4) five

20. The physical layer is concerned with the movement of _______ over the physical medium:

a. Programs

b. Dialogs


c. Protocols


d. Bits

21. In the OSI model, as data packet moves from the lower to the upper layers, headers are

a. Added

b. Removed


c. Rearranged



d. Modified

22. In the OSI model, when data is transmitted from device A to device B, the header from A’s layer 5 is read by B’s ____ layer:

a. Physical



b. Transport


c. Session


d. Presentation

23. In the OSI model, what is the main function of the transport layer?

a. Node-to-node delivery


b. Process-to-process delivery


c. Synchronization

d. Updating routing tables

24. In the OSI model, encryption and decryption are functions of the ____ layer

a. Transport


b. Session


c. Presentation



d. Application

25. Hosted virtualization is running a virtual operating system:

a. directly on to the hardware

b. within an existing operating system

c. in the Internet

d. remotely

26. Which of the statement is correct?  Public IP:

a. can be repeated in different LANs

b. is routable

c. is always dynamically configured

d. has 48 bits instead of 32 bits

27. Private IP

a. can be repeated in different LANs

b.  is routable

c. can be repeated in the same LAN

d. is always statically configured

28. Interconnection of logically and/or physically related devices that gather data, analyze, manage and make decisions is:

a. Big data analysis

b. Hadoop

c. IoT

d. datamining

29. _______ is distributed by Apache as a collection of open-source utilities that work with massive amount of data and large number of computers.

a. Big data analysis

b. Hadoop

c. IoT

d. datamining
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